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Professor Leffler

Econ 431

Fall 2003


1.  A.  BP and ARCO merged in 2000.  
A.i.  Describe generally how you would expect the FTC or DOJ to evaluate the likely anticompetitive impact of the proposed merger?

     One area of concern was the large market shares of BP and ARCO in the Alaska North Slope (ANS) oil fields.  BP’s share of the output of crude oil from Alaska was about 55% and ARCO’s about 35%.  ANS is used to supply the refineries in Washington, Northern California and Southern California.  ANS represents about 90 percent of the total oil used in these refineries, though that percentage varies across refineries.  ARCO is the dominant marketer on the west coast.  BP only supplied crude oil, it had no refineries on the West Coast.  ARCO sold no ANS crude oil, all its supply went to its own refineries.  

A.ii..  A possible anticompetitive effect concerns the possibility that post merger BP-ARCO would be able to raise the price of ANS crude oil.  BP-ARCO responded that BP already dominates the market for the supply of crude oil to independent (non-Arco) refineries and that Arco does not compete in the sale of crude oil since it doesn’t sell to any outside refineries.  According to BR-Arco, the merger therefore will not impact the market for the sale of ANS crude oil.  How would you evaluate this contention?  What facts would you seek to assist in your evaluation of whether there might be anticompetitive impacts from the merger?.

A.iii.  The second anticompetitive issue under investigation was the possibility that the retail presence of ARCO would change the optimal BP crude oil price to other refineries even if BP does already had and had exercised  market power.  How would you evaluate this contention?
2.i.  The antitrust laws are motivated by the desire to insure economic efficiency.  Under what conditions is price discrimination inefficient?  

  ii..  The Robinson-Patman Amendment to the Clayton Act requires that there be an injury to competition for there to be a violation.  How would you define an injury to competition?  Consider the case of United Airlines offering a substantial discount to Microsoft for the exclusive right to transport Microsoft employees.  Provide a set of facts for which this price discrimination would result in an injury to competition and a set of facts for which the discrimination would not result in an injury to competition.

3. A.  A few years ago, Providence Hospital in Everett purchased Everett Medical Center.  These were the only two hospitals in the city of Everett.  Both hospitals were non-profit hospitals.  While they admitted that the merger would give them market power, they argued that their non-profit status and public mission would cause them to act efficiently.

A.i.  Of what economic significance is the non-profit status of the hospitals in evaluating the likely competitive impact of the merger?

A.ii.  What other facts would you seek in generally evaluating the competitive impact of the merger?.  What facts would federal antitrust enforcers seek?
A.iii.  A result empirical study used data from California in which it regressed the hospitals’ average prices against market structure variables and dummy variables for non-profit status.  A relevant market was defined as counties.  The results found that higher Herfindals were associated with lower prices for non-profits but higher prices for for-profit hospitals.  This study was used by the hospitals to argue no likely anticompetitive impact. 

A.iv.  What implications does this study have in predicting the impact of market power for non-profit hospitals (note that many counties in the data have both for-profit and non-profits in the same counties.)  In evaluating the results, explain the significance of the facts that 1) counties with high Herfindals are almost always small, rural hospitals, and 2) for-profit hospitals choose to locate in particular areas and not in others.

4.  The Merger Guidelines of the Department of Justice and the Federal Trade Commission assume a “lessening of competition” standard is met if, as a result of a merger, the merged firms could raise price 10 percent.  Assume the non-merged firms each have a five percent market share.  What do you believe is the minimum pre and post merger Herfindal statistic that would result in the merged firm being able to raise price 10 percent?
5. Jeld-Wen Company makes and sells interior residential doors.  They and their competitors have been accused of price fixing.  


i.  What features about the industry would you like to know in order to assess the likelihood that the industry could successfully price fix.  Explain the role of each feature in the assessment.


ii.  Describe at least four (hypothetical) “facts” that, if true, would suggest successful collusion has occurred.  Explain why each “fact” makes it more likely that successful collusion has occurred.

6.  A. “There have been a number of changes in the marketing of gasoline in Western Washington in the 90s.  In 1990, Texaco purchased all the distribution and retailing assets of Shell and Gull (but not Shell’s refinery).  In 1992, BP purchased of all the distribution and retailing assets of Exxon. This left essentially four marketers - TOSCO (operating as BP), Texaco, ARCO and Chevron. The first three of these have refineries in the state.  Chevron purchases its supply from one of the three or from Shell which retains the only other refinery in the state (mainly shipping the output to California).  Chevron also on occasion brings in refined product from Vancouver or San Francisco (at a cost of about 2-4 cents per gallon).  Exxon had never brought in refined product.  It had no marine terminal (off loading site).  Exxon rather purchased from ARCO.

    Compare and contrast the likely competitive impact of the Texaco 1990 purchase of Shell’s distribution assets to the impact of BP’s purchase of Exxon’s distribution assets. In particular, what role does the level of vertical integration play.  What additional facts would you seek to evaluate these purchases?” 

  B. In 1995, TOSCO bought all of BP’s assets in Washington and then TOSCO bought Unocal’s assets.  Texaco and Shell then announced their intent to combine their refining and distribution assets in North American including Washington.  Assume you have been hired by Shell to assist in getting approval for the proposed purchase of their Washington refinery by Texaco.  Describe how you would expect the government to go about evaluating the competitive effects of the purchase.  How would you try to justify this purchase.

 7.  A. “In industries with few sellers, the natural recognition of their mutual interdependence can lead to the same price that would result from explicit collusion.  Since it is not illegal to independently act in your own best interest, such non-competitive pricing is beyond the reach of the antitrust laws.  However, firms can develop ways of doing business the result of which is to increase the likelihood that a non-competitive price is reached and sustained.”

Evaluate this claim.  

B.  Consider how each of the following can play a role in reaching or sustaining a non-competitive price:


i.  Industry wide most favored nations’ clauses

ii.  Vigorous enforcement of the Robinson-Patman Act.

iii.  Pre-announced price changes.

iv.  Minimum resale price contracts.

v.   Base point pricing.

8.  Ford Motor Company is planning a new performance "luxury" model to compete with Lexus, Accura, ect.  They plan to describe the car through exclusive distributors with one distributor per one million population.  The distributor is expected to provide demonstrations and warranty work at the dealers expense.  Would you expect Ford to attempt to control the retail price?  Explain.  Be sure to suggest empirical factors that increase or decrease the likelihood of a minimum or maximum retail price.

9.      i.  For the first six weeks subsequent to a strike, United Airlines gave every passenger a freely transferable coupon good for fifty percent off the price of any United Flight regardless of class or distance.  Describe how the price of the coupons will be determined?  To what extent would you expect the gains to consumers getting coupons to be nullified by resource expenditures to earn the coupons?

    ii.  Motion picture exhibitors sell all seats for a single price.  Yet clearly seats in the middle of the theater seats are preferred.  Is setting a single price economic price discrimination?  Can you propose an alternative explanation and suggest ways to test it?

    iii.  Most merchants do not offer discounts for cash as compared to credit cards.  Yet the merchant receives from 2 to 5 percent less for the credit card transaction.  Is this a result of economic price discrimination?  What additional facts would you seek to support your answer?  

    iv.  Evaluate:  "How can a firm with a flashlight battery monopoly raise its return by forcing all its customers to buy all their bread form it along with batteries?  It would seem 

more likely that the tie-in would lower rather than raise the monopoly return."  (From Telser "A Theory of Monopoly of Complementary Goods", J of Business, 1979, p.212)
